1) ‘& & HIUAr F TIPR &- [Question ID = 52945]

1. SR YHE [Option ID = 91775]
2. TSy 9= ¥Mf 39 [Option ID = 91773]
3. YRdg gRYS [Option ID = 91772]

4. IS [Option ID = 91774]

Correct Answer :-

« T73T 3 M1 3T [Option ID = 91773]

2) TR g Igddl fha U3 & Hutew A? [Question ID = 53019]

1. fa=ma YRA [Option ID = 92068]
2. gT [Option ID = 92071]

3. §9RY YHMER [Option ID = 92070]
4, AT [Option ID = 92069]

Correct Answer :-
« fO=Ta YRA [Option ID = 92068]

3) MY Rig ReFA® &t Frdis T f59 39T W UI 31T UT? [Question ID = 53039]

1. YRR [Option ID = 92150]

2. ¥&pfd & IR &A™ [Option ID = 92151]
3. §PR [Option ID = 92148]

4, I4%f [Option ID = 92149]

Correct Answer :-
. Jax [Option ID = 92149]

4) gig’ uR®! $t FurledT A- [Question ID = 52953]

1. R &t [Option ID = 91806]
2. gHadt <dt [Option ID = 91805]
3. HgTed! aHf [Option ID = 91807]
4. gUST FUR AGH [Option ID = 91804]

Correct Answer :-

« Heredt auf [Option ID = 91807]

5) IW-TUSH & Wad® A [Question ID = 53031]

1. ¥Rd g [Option ID = 92116]

2. 34 T [Option ID = 92117]
3. 3fHgdg [Option ID = 92118]
4. TUSY [Option ID = 92119]

Correct Answer :-
« 1Rd G [Option ID = 92116]

6) BRI e P 39T BT A 8- [Question ID = 53017]

1. HRd MR [Option ID = 92061]
2. YA IS [Option ID = 92062]

3. 3R [Option ID = 92060]
4. AR [Option ID = 92063]

Correct Answer :-
o URJ HRA [Option ID = 92061]

7) ‘nefewy fga TET 82 [Question ID = 52965]



1. Fig 3fffeE [Option ID = 91855]
2. ST [Option ID = 91854]
3. Wl [Option ID = 91853]

4. 3RX] [Option ID = 91852]

Correct Answer :-
o 3] [Option ID = 91852]

8) ‘UM U R %4 3l FTWAPRI & §19 §U UA-UdeR $T Ydbad 82 [Question ID = 53026]

1. HeTdR wTe fgdet 3R #fieR g [Option ID = 92096]
2. At 99 3R GfFTEY [Option ID = 92099]

3. GRAIRM T=A 3R YRAFET Ud [Option ID = 92097]
4, WA 2T 3R FERATY ST [Option ID = 92098]

Correct Answer :-
« Affrig S 3R GFEEY [Option ID = 92099]

9) ‘@S Uf®T & HUTG® A- [Question ID = 52951]

1. F5eR M1 AR [Option ID = 91799]
2. TR YIS [Option ID = 91797]

3. 9T WaHEH [Option ID = 91798]
4, YRdw g% [Option ID = 91796]

Correct Answer :-
+ URdT 8RYS [Option ID = 91796]

10) TRUES’ ¥ fFY aTg BT IRH HIFT 16T 82 [Question ID = 52975]

1. BTMETG [Option ID = 91892]
2. TTfdaTg [Option ID = 91893]
3. UURIGTE [Option ID = 91895]
4, JORTATE [Option ID = 91894]

Correct Answer :-
« TRINTETE [Option ID = 91894]

11) ‘Rraziy & g’ frwet T 82 [Question ID = 52944]

1. ST T [Option ID = 91768]

2. IS S [Option ID = 91771]

3. SIAHUT 4 [Option ID = 91769]

4. ST TSR foefeb [Option ID = 91770]

Correct Answer :-

« SYP< T« [Option ID = 91768]

12) 3fea & fian 9 vafar &1 ae iRt Wiew & fy g & gam? [Question ID = 52982]

1. f53<Y g [Option ID = 91923]
2. BRIETE [Option ID = 91920]
3. YATfare [Option ID = 91921]
4. YR T [Option ID = 91922]

Correct Answer :-

« YRdAg T [Option ID = 91922]

13) ‘3M9-3re¥ Y fJem F =1 82 [Question ID = 52983]

1. 3U-UIY [Option ID = 91925]
2. e [Option ID = 91927]
3. HfadT [Option ID = 91924]
4, 94 [Option ID = 91926]

Correct Answer :-
e HId% [Option ID = 91927]

14) AT SRaRY fFEPt T 82 [Question ID = 53040]



1. #fidTeT Y& [Option ID = 92154]
2. 3[R Id [Option ID = 92153]

3. g3 4f [Option ID = 92152]
4, IGUHI [Option ID = 92155]

Correct Answer :-
« iqret e [Option ID = 92154]

15) 3TaRT FRAeT 5 faem F w1 82 [Question ID = 53022]

1. X@R¥A [Option ID = 92083]
2. Sffait [Option ID = 92081]

3. ITROT [Option ID = 92082]
4. g1 gdid [Option ID = 92080]

Correct Answer :-
« SfiaH [Option ID = 92081]

16) ‘U Ufd & Hicw’ fHHS! T 82 [Question ID = 52988]

1. TS e [Option ID = 91946]
2. Ya3R [Option ID = 91944]

3. He% HT [Option ID = 91945]

4, #iepT=d AT [Option ID = 91947]

Correct Answer :-
« HR= HGT [Option ID = 91945]

17) ‘TS a1 9iei U’ foral T 82 [Question ID = 52981]

1. XTOIRT SRR [Option ID = 91917]

2. RARTI0 & [Option ID = 91919]
3. 3¥0] ST [Option ID = 91916]

4, HITQRT S&RTE [Option ID = 91918]

Correct Answer :-
o IO WY [Option ID = 91917]

18) 3(CNT 3TN AR & TATHR - [Question ID = 53029]

1. IFRATTHT AT [Option ID = 92111]
2. H9[d T [Option ID = 92110]

3. FRravreg R¥g [Option ID = 92109]
4, I\ A% [Option ID = 92108]

Correct Answer :-

« fRrauare fRig [Option ID = 92109]

19) g1y yHTr et T 82 [Question ID = 53004]

1. IAHW TRHgY [Option ID = 92011]
2. G IR [Option ID = 92009]
3. o= 3 [Option ID = 92010]

4, T UTd [Option ID = 92008]

Correct Answer :-
« TS Il [Option ID = 92009]

20) ‘3TANBTA & TATPR 8- [Question ID = 52964]

1. TG [Option ID = 91851]
2. YIig [Option ID = 91850]
3. 3T [Option ID = 91848]
4. ST [Option ID = 91849]

Correct Answer :-
o 3{IcTH [Option ID = 91848]

21) ‘AR ar f HeT SITaT 82 [Question ID = 52956]



1. YSHId [Option ID = 91818]
2. fa=mafa [Option ID = 91816]
3. S [Option ID = 91817]
4. #1eR [Option ID = 91819]

Correct Answer :-

« fo=mfd [Option ID = 91816]

22) ‘UHRGY 4R B ATHA AIHY Yo Biadl = gl iR gueamml G141 1 Ugsy & g &9 § feaman 3R Ue-ura & =4l & gera? 1S 2
faar1”- ug ®Y= fFTST 82 [Question ID = 52955]

1. g Hipd [Option ID = 91814]
2. JW<ig Y& [Option ID = 91813]

3. gIRIvTE fgadl [Option ID = 91812]
4, IMfIATY AT [Option ID = 91815]

Correct Answer :-
o Mg Yo [Option ID = 91813]

23) UTpd @Y Sifaw 3= et | gt ) Tnfeey o1 snfawufa | i "ebdn 8 1'- g HUA %9 3ieia® #1872 [Question ID = 52966]

1. IAGEY Fgdet [Option ID = 91859]
2. A% Y& [Option ID = 91857]

3. IMfIAY THT [Option ID = 91856]
4. 9maR g [Option ID = 91858]

Correct Answer :-
o Hdg YT [Option ID = 91857]

24) &S & yyH HETHTd 41 WA §- [Question ID = 52957]

1. FTHIG [Option ID = 91822]
2. ¥gsRaTs [Option ID = 91823]
3. gAYIGRN [Option ID = 91820]

4. QR [Option ID = 91821]

Correct Answer :-

« TcERaTs [Option ID = 91823]

25) fPRIeRT areid} & ATHRUT &P BT ITH 8- [Question ID = 53036]

1. GRS Rt FHRUT qUT I=T [Option ID = 92139]
2. &1 YT [Option ID = 92137]

3. 3131 fg=<t [Option ID = 92136]

4. fe=d} ISR [Option ID = 92138]

Correct Answer :-
. Bz RITEA [Option ID = 92138]

26) Wl P uRig AP HT A 8- [Question ID = 53033]
1. OREWIH [Option ID = 92125]

2. 3fF1 TIEfeaT [Option ID = 92126]
3. fufsas [Option ID = 92124]
4, farfverd A [Option ID = 92127]

Correct Answer :-
« Rufed® [Option ID = 92124]

27) ‘ST fFH®T FETI TIE 872 [Question ID = 53010]

1. fIsg] gHTR [Option ID = 92033]

2. Uiy = ¥Mf S [Option ID = 92032]
3. A RAUTETE Rig [Option ID = 92035]
4. gUST FUR AGH [Option ID = 92034]

Correct Answer :-

- gHET HHART 98 [Option ID = 92034]



28) .'Hfo P1oy BT U’ fha TWATPR P 1T 8T 741 872 [Question ID = 52941]

1. FG3M [Option ID = 91757]

2. fag@em [Option ID = 91759]
3. HREER [Option ID = 91758]
4. YR [Option ID = 91756]

Correct Answer :-
« PGSR [Option ID = 91758]

29) IER YEd A R R 5 {5 37 A1 | YTHRI? [Question ID = 53012]

1. U RSl [Option ID = 92040]

2. TIfeT [Option ID = 92042]

3. UL T YIPHarH™ fg=<l [Option ID = 92041]
4. 31dgg [Option ID = 92043]

Correct Answer :-
o ST T UIHATHI fg=t [Option ID = 92041]

30) IWEE Y b SFAGTUY BT 19 8- [Question ID = 52950]

1. fg=<} I [Option ID = 91794]

2. o=t wfes AR [Option ID = 91795]

3. fe=t T1fg &1 3fagT™ [Option ID = 91793]
4, fe=<t Y1 W1 [Option ID = 91792]

Correct Answer :-
o To=dl AIfe 1 g [Option ID = 91793]

31) ‘€9 U & HuTed & 1Y 379 | fFT T &1 914 98T 82 [Question ID = 52991]

1. HEI&dT — GUKIHHRT g [Option ID = 91959]

2. UTdg - % d1&d [Option ID = 91957]

3. SRR TG - Wifaway fgaet [Option ID = 91956]
4. YRa g% - TeIdR Tue 33t [Option ID = 91958]

Correct Answer :-
« UTEE - IO A1&d [Option ID = 91957]

32) ‘STl 9d@’ & TATPR B &2 [Question ID = 53024]

1. Ffaqay [Option ID = 92091]

2. 3R dWIgd [Option ID = 92090]

3. YRR §81gR R [Option ID = 92088]
4. TR @i} [Option ID = 92089]

Correct Answer :-
« TERR @i /T [Option ID = 92089]

33) “H 3 TP ' {59 faem #3991 82 [Question ID = 52960]

1. I [Option ID = 91834]
2. T8 [Option ID = 91833]
3. F1ea® [Option ID = 91832]
4. FHgH! [Option ID = 91835]

Correct Answer :-
o 3UMY [Option ID = 91834]

34) 3mETd HTHE ©) fd YT 1 Uade® AT ST 82 [Question ID = 53032]

1. 9fd [Option ID = 92122]
2. 9ifa [Option ID = 92123]
3. @f [Option ID = 92120]
4, 3fPHR [Option ID = 92121]

Correct Answer :-
« 3fcIPR [Option ID = 92121]



35) IaUTHS’ THRYA fFa) fAeTaT UT? [Question ID = 52972]
1. JFTARPIR [Option ID = 91880]

2. T fRIGURITE [Option ID = 91882]
3. SR 3ffrey fgat [Option ID = 91881]
4, 1 & AR [Option ID = 91883]

Correct Answer :-

DS U HIR [Option ID = 91880]

36) QRO 3R P’ fHUB! ITT 82 [Question ID = 53028]

1. N WiaciT [Option ID = 92107]
2. AEHFRIA0 A9 [Option ID = 92105]
3. 3l WA [Option ID = 92104]
4. A0 AYHR [Option ID = 92106]

Correct Answer :-
« HWT A [Option ID = 92107]

37) HiF®d & AeenRY BTe’ ¥ 9 f3ar ? [Question ID = 53037]

1. I Yot [Option ID = 92141]

2. ST YR G [Option ID = 92143]
3. Sifot = [Option ID = 92142]
4, IR 2T [Option ID = 92140]

Correct Answer :-

« M@ 2Hf [Option ID = 92140]

38) "URAYRHY & TAATPR & [Question ID = 52949]

1. AfYI=R T [Option ID = 91789]
2. AR TEf /bR [Option ID = 91790]
3. fieR UrE® [Option ID = 91791]

4, YRdw BRe% [Option ID = 91788]

Correct Answer :-
« DR T [Option ID = 91789]

39) NIRRT THT & IITIFR §- [Question ID = 52987]

1. HIg B [Option ID = 91943]
2. XIS I1&d [Option ID = 91940]
3. v aaf [Option ID = 91941]
4. A9 ¥SRY [Option ID = 91942]

Correct Answer :-
« JoR% g1ed [Option ID = 91940]

40) Bf¥ie WRATS 59 faur & fore =M =i 82 [Question ID = 52999]

1. U [Option ID = 91989]
2. 91ed [Option ID = 91991]

3. &% [Option ID = 91990]

4. 3{TAraT [Option ID = 91988]

Correct Answer :-
« & [Option ID = 91990]

41) ‘FaYsT & SiTe’ & TAATPR &- [Question ID = 52977]

1. Yarig™TE A% [Option ID = 91901]
2. SRR &1 [Option ID = 91903]
3. AfeAfdcied Tl [Option ID = 91902]
4. <=1 BT [Option ID = 91900]

Correct Answer :-

« YarFivTE A [Option ID = 91901]



42) ‘4T P HIEUI" BT TWATPR &- [Question ID = 52990]

1. ST\ 4t [Option ID = 91955]

2. TE1eE! gt [Option ID = 91952]

3. HEIHHARY TG [Option ID = 91953]
4. YT A8 [Option ID = 91954]

Correct Answer :-

« Heredt auf [Option ID = 91952]

43) YREM F = A- [Question ID = 52967]

1. GeeTHTERS [Option ID = 91860]
2. THTETE [Option ID = 91863]

3. fag e [Option ID = 91862]
4, A [Option ID = 91861]

Correct Answer :-
« JEIHTIT [Option ID = 91860]

44) ‘9T A T & TEPR S 82 [Question ID = 53018]

1. A WIHEITA [Option ID = 92067]
2. I5eR TT IR [Option ID = 92065]
3. k1 =mf [Option ID = 92064]
4, #14R UT% [Option ID = 92066]

Correct Answer :-

+ W WipdTd [Option ID = 92067]

45) HRA & I & fFy rg=de § we1 141 § fF g #Y Ierurer R iR iy @ §°f'? [Question ID = 53034]

1. 351 [Option ID = 92130]
2. 327 [Option ID = 92128]
3. 343 [Option ID = 92129]
4. 352 [Option ID = 92131]

Correct Answer :-
e 343 [Option ID = 92129]

46) 3TH § P ‘TR TwH’ F HfY 78T 82 [Question ID = 52979]

1. $ATRM [Option ID = 91910]

2. UG- 9IR [Option ID = 91908]

3. gfaaaly [Option ID = 91911]

4, AR AT T [Option ID = 91909]

Correct Answer :-
« GfFaaY [Option ID = 91911]

47) 39 ¥ #A fRjur 4y ¥ i 78 §2 [Question ID = 53038]

1. & &4 [Option ID = 92144]
2. XS [Option ID = 92146]

3. 9194 [Option ID = 92145]
4. QRET [Option ID = 92147]

Correct Answer :-
o IR [Option ID = 92147]

48) TH @ B t T yHdR HR BT T8 82 [Question ID = 52978]

1. 38T Wl [Option ID = 91906]

2. TFTE! &1 &ddT [Option ID = 91905]

3. 1d Mid @y [Option ID = 91907]

4, TG & faFg [Option ID = 91904]

Correct Answer :-
+ STHBAN & fdF< [Option ID = 91904]



49) T8 ¥ $Y W T ghFia HurSt FRTem 9 78 8- [Question ID = 52962]

1. SHTGT [Option ID = 91842]
2. IR [Option ID = 91843]

3. 9T U [Option ID = 91841]
4. URAd [Option ID = 91840]

Correct Answer :-
« 3= [Option ID = 91843]

50) 399 ¥ B Wl 31 uferes Yewig Srail i 7Y 82 [Question ID = 53015]

1. TG4 [Option ID = 92054]

2. 3{TRTEE [Option ID = 92053]

3. 3REXY FHa™ [Option ID = 92052]
4. HYATE [Option ID = 92055]

Correct Answer :-
« TYATEH [Option ID = 92055]

51) 399 | B9 I I BUltYRATY Y0 FT 82 [Question ID = 53020]

1. SETAT [Option ID = 92073]
2. T 3ff=d [Option ID = 92072]
3. 7! & §I9 [Option ID = 92075]
4. 3RTE #Y TRAY [Option ID = 92074]

Correct Answer :-
« T 3ffet [Option ID = 92072]

52) 38 | B W T BiA-g4-TUE A&l 82 [Question ID = 53013]

1. YoHIeT [Option ID = 92045]

2. 1 T 919 990G 1 dTdi [Option ID = 92047]
3. IRRf JWreH 1 araf [Option ID = 92046]

4. fg=dt Tifecd &1 fcg™ [Option ID = 92044]

Correct Answer :-

. o<l Tife &1 3fde™ [Option ID = 92044]

53) 39 9 PIT YUY P B T §? [Question ID = 53014]

1. IgsRaTS [Option ID = 92050]

2. 3fsgd THH [Option ID = 92051]
3. TR [Option ID = 92048]

4. qWIE=d [Option ID = 92049]

Correct Answer :-

« TEaRETs [Option ID = 92050]

54) 379 § B f{=< Bt WifefAe ufer 78 82 [Question ID = 53003]

1. T84 [Option ID = 92004]

2. BT [Option ID = 92005]
3. TISHT [Option ID = 92006]
4. g9 [Option ID = 92007]

Correct Answer :-
« ST [Option ID = 92006]

55) S8 A P9 ) T ST Tl 82 [Question ID = 53001]

1. 71§ [Option ID = 91997]
2. TRA&M T [Option ID = 91996]
3. &hTd [Option ID = 91998]

4, HTATT [Option ID = 91999]

Correct Answer :-
« HEAT [Option ID = 91999]



56) FTH q HIF-T TEAT WIS Ft T8 82 [Question ID = 52946]

1. IS [Option ID = 91776]

2. SI9RRraT [Option ID = 91777]
3. IRt [Option ID = 91778]
4. 9T [Option ID = 91779]

Correct Answer :-
« IR [Option ID = 91778]

57) 379 § ¥ STAEK! TWETPR 81 82 [Question ID = 52943]

1. gfiAied U4 [Option ID = 91765]

2. TE1ed! g [Option ID = 91767]

3. ST YMf ST [Option ID = 91766]
4, SIR[H UHTG [Option ID = 91764]

Correct Answer :-
« STAHWT AT T’ [Option ID = 91766]

58) ‘fa=dt wifgw #t yf¥rd1 — [Question ID = 52998]

1. 3T Y & [Option ID = 91986]

2. EIT UY 8 [Option ID = 91984]

3. ey e §1 [Option ID = 91987]

4, HIfTAIET JY § [Option ID = 91985]

Correct Answer :-

. WIfeAfdE™ ¥y § [Option ID = 91985]

59) ‘3RSI-IIS & AT T T U | T ¢ 3= afer o a 3ify @ | 1~ frgat ufeaat §2 [Question ID = 52959]

1. AfYI=R T [Option ID = 91828]

2. G. TR f8 [Option ID = 91831]
3. SRR YT /R’ [Option ID = 91830]
4, YRdw B [Option ID = 91829]

Correct Answer :-
+ URdT 8RYS [Option ID = 91829]

60) PerRATY Rig B ufifG fFT =0 A 82 [Question ID = 52980]

1. SUUN®R & ¥4 # [Option ID = 91912]
2. T%R & ¥ H [Option ID = 91914]

3. %3 & ¥4 H [Option ID = 91915]

4. 9IeHHR & FY H [Option ID = 91913]

Correct Answer :-
« Hfd & ¥4 H [Option ID = 91915]

61) ST 1% & fPH YR BT TP HHT ST 82 [Question ID = 52997]

1. AIHHTAAIE! [Option ID = 91983]
2. ATRIGTE} [Option ID = 91982]

3. Ygare! [Option ID = 91981]

4, TFATE [Option ID = 91980]

Correct Answer :-
« YAl [Option ID = 91980]

62) ‘€R1 S’ fhd HTeaUs P 7= &2 [Question ID = 52947]

1. f5a<} g [Option ID = 91781]
2. BHTETE [Option ID = 91782]
3. TATferaTe [Option ID = 91783]
4. YRAd= 7T [Option ID = 91780]

Correct Answer :-

. fgad i [Option ID = 91781]



63) ‘®d dF YHR=' fHus! TaT 82 [Question ID = 52942]

1. 71T 94 [Option ID = 91763]

2. gf=e Ud [Option ID = 91761]

3. YfHdT [Option ID = 91760]

4, AR TS T [Option ID = 91762]

Correct Answer :-
« [ g [Option ID = 91763]

64) af B HTed P AT fHTA HAFT 82 [Question ID = 52992]

1. Pd [Option ID = 91961]
2. Ygalcae [Option ID = 91962]
3. §HC [Option ID = 91960]
4. 3{Tcde [Option ID = 91963]

Correct Answer :-

« 3fFEagH [Option ID = 91963]

65) IMYNTG (ARSI BT Y PT AT 8- [Question ID = 52963]

1. RRraramat [Option ID = 91847]
2. GNTATIRIY [Option ID = 91844]

3. 3Hexgre [Option ID = 91845]
4. SN [Option ID = 91846]

Correct Answer :-

« INTETRIE [Option ID = 91844]

66) SIURHR YIS A fHY U &7 JuTe fHUT UT? [Question ID = 52952]

1. $g [Option ID = 91802]

2. g% [Option ID = 91801]
3. §9 [Option ID = 91803]

4. AT [Option ID = 91800]

Correct Answer :-

- ¥g [Option ID = 91802]

67) RIS 3R Afraaard & IaRaT 8- [Question ID = 52968]

1. <@ [Option ID = 91865]

2. GGy [Option ID = 91864]
3. AfcRT [Option ID = 91867]
4. YNUT [Option ID = 91866]

Correct Answer :-
« TR [Option ID = 91867]

68) ‘IS U3 $X 3Wdl g et SaTH T 82 [Question ID = 53023]

1. TG 1B [Option ID = 92084]
2. IS5 I1&d [Option ID = 92087]
3. IR S [Option ID = 92086]
4. HAAR [Option ID = 92085]

Correct Answer :-
+ oI5 T1&d [Option ID = 92087]

69) ‘SIUTYE P THBUT P ITFTBR &- [Question ID = 52948]

1. g9RIvTE fga<l [Option ID = 91786]
2. wifaftr fgadh [Option ID = 91784]

3. GREATe Iqdet [Option ID = 91787]
4. AETdRyTE fgad} [Option ID = 91785]

Correct Answer :-

« BORIG fgad [Option ID = 91786]



70) ‘HWR=Re’ fPE®T 79T 82 [Question ID = 53025]

1. gfFEHg Ud [Option ID = 92092]

2. WITGCIYRITE gt [Option ID = 92095]
3. TRTERTATE fgact [Option ID = 92094]
4, TTETTS RIS [Option ID = 92093]

Correct Answer :-

« TEARYATE fgddl [Option ID = 92094]

71) ‘$AR’ (&b b 4GP &2 [Question ID = 52993]

1. YifoRa=T T [Option ID = 91966]

2. H<ig YT [Option ID = 91965]

3. FiGgaR aTeTUlt [Option ID = 91967]
4. TIIRY TG fgadl [Option ID = 91964]

Correct Answer :-
+ BRI U9 fgad [Option ID = 91964]

72) wifasite Aifged o1 qrife YR o1 82 [Question ID = 53005]

1. 3MYFHTaTG [Option ID = 92013]

2. HIeRIdIE [Option ID = 92015]

3. ThTIS &1 TGS [Option ID = 92012]
4, JATE [Option ID = 92014]

Correct Answer :-
« HrEdIg [Option ID = 92015]

73) 59 ®fa 3 < & 9 & A Nuar &2 [Question ID = 52974]

1. 31 [Option ID = 91889]

2. HERATY 3FTATd [Option ID = 91888]
3. @ [Option ID = 91891]

4, RIS [Option ID = 91890]

Correct Answer :-
« @4 [Option ID = 91891]

74) ®f3 g f@ g1 & TETPR WH 914 82 [Question ID = 53016]

1. 3MYFHHIA [Option ID = 92059]
2. fdFTa [Option ID = 92057]

3. 3M1fgeTal [Option ID = 92058]

4. Jfq®Ta [Option ID = 92056]

Correct Answer :-
« JfdeTd [Option ID = 92056]

75) ‘a3 & J' § fF HATS! Pt HUT 82 [Question ID = 52996]

1. o [Option ID = 91976]
2. HZ3IRT [Option ID = 91979]
3. fRITU®HR [Option ID = 91978]
4. AWGR [Option ID = 91977]

Correct Answer :-
o HZSIRT [Option ID = 91979]

76) ‘foRTen F wifges AreAr fhae! AT 82 [Question ID = 52995]

1. 31 [Option ID = 91975]

2. fasTgda TR A1E} [Option ID = 91974]
3. YMIAR 2T [Option ID = 91973]

4, 9maR g [Option ID = 91972]

Correct Answer :-

« IMfdarg 2Ef [Option ID = 91973]



77) ‘TS AR &1 SRl f$ae®t T 82 [Question ID = 52976]

1. MRSTHAR AR [Option ID = 91898]
2. gfaqaty [Option ID = 91896]

3. 33 [Option ID = 91899]

4. TITE [Option ID = 91897]

Correct Answer :-
« HfaaaiY [Option ID = 91896]

78) ‘YadHTa’ ® WIS $ fpas ey 99@T¢ ¢ 82 [Question ID = 52954]

1. g [Option ID = 91809]
2. 91 [Option ID = 91811]
3. &9 [Option ID = 91810]

4. IRE [Option ID = 91808]

Correct Answer :-
« dRg [Option ID = 91808]

79) ‘3T Ue’ & IFIPR &- [Question ID = 53008]

1. fRrere RIFe aredra ‘3R [Option ID = 92024]
2. IS H1%d GfATaTY [Option ID = 92025]

3. YMIART 2T [Option ID = 92027]

4, YR YR [Option ID = 92026]

Correct Answer :-
. GfFgre ERMe aema ‘3R [Option ID = 92024]

80) PITHAIIR S IT TYE i &1 82 [Question ID = 53002]

1. fga<t g, SrmaTe, wifadre, TERTATE [Option ID = 92002]

2. e, WTepdl, Sy, &= [Option ID = 92003]

3. JoNilaN, IREM, HER, G [Option ID = 92001]

4, YRdg sie%, TRdRNE fEach, SRieR UM, NS [Option ID = 92000]

Correct Answer :-

. i, YRa, FER, €W [Option ID = 92001]

81) ‘Hef &1 dar ¥ ITWPR -
[Question ID = 52985]

1. 3RT Y9TE T [Option ID = 91932]
2. 7 T8 [Option ID = 91934]

3. U W [Option ID = 91933]
4. HARM™ [Option ID = 91935]

Correct Answer :-
« /7 T9d [Option ID = 91934]

82) I for fruaat T 82
[Question ID = 52986]

1. IS TERT [Option ID = 91936]
2. faefa @t [Option ID = 91937]

3. T I [Option ID = 91938]

4, IS 1G4 [Option ID = 91939]

Correct Answer :-
« e 9uf [Option ID = 91937]

83) WR-YUIFATY TR w8l A fAFar? [Question ID = 53000]

1. WG (I%) [Option ID = 91995]
2. S [Option ID = 91992]
3. 3SR [Option ID = 91994]



4. §RY [Option ID = 91993]

Correct Answer :-
o il [Option ID = 91992]

84) IR WeT VR ' fFTw® TaT 82 [Question ID = 53027]

1. HIg= B [Option ID = 92100]

2. s Trgf [Option ID = 92101]

3. GERIERT [Option ID = 92103]

4, qI2R TS TR [Option ID = 92102]

Correct Answer :-

« o7 g8t [Option ID = 92101]

85) ‘Riffafe® wd ifw SR (YR ST HTHT §I401) F @D 8- [Question ID = 53035]

1. GIfd $AR Tesif [Option ID = 92134]
2. st 3 [Option ID = 92133]

3. Tf g At [Option ID = 92132]

4, §1¥= guf [Option ID = 92135]

Correct Answer :-

« TSt BRI [Option ID = 92133]

86) ‘50 el &1 31’ & TUTHR - [Question ID = 52961]

1. 3riemRie Iutem ‘gRshe [Option ID = 91836]
2. BT SHIe R [Option ID = 91837]

3. AT AR G [Option ID = 91838]

4, TSR T [Option ID = 91839]

Correct Answer :-
o 3R IUTET ‘B3N’ [Option ID = 91836]

87) ‘WRAWR -GN’ & AT B4 82 [Question ID = 53011]

1. TIRWTY [Option ID = 92038]

2. WYY [Option ID = 92037]

3. YREUTS [Option ID = 92036]

4, SfeTHE YR [Option ID = 92039]

Correct Answer :-
« TMfaYs R [Option ID = 92039]

88) ‘anyfi® wifew ¥ wafrat fae} Ta=T 82 [Question ID = 53030]

1. THRTEE 21§ [Option ID = 92112]
2. T TSI [Option ID = 92115]
3. ATUeY Rig [Option ID = 92114]
4, TR g [Option ID = 92113]

Correct Answer :-
« AR g [Option ID = 92113]

89) 3nyfi wrfeew frat STl Y& 82 [Question ID = 52994]

1. Mg Yot [Option ID = 91968]

2. iegan It [Option ID = 91970]
3. % [Option ID = 91971]

4. 9maR R4 [Option ID = 91969]

Correct Answer :-

« &GN TTSIU [Option ID = 91970]

90) 3nyfie f=dt e & fiw W frwat foredt g5 U@ 272 [Question ID = 53007]

1. AfrE% S [Option ID = 92020]
2. AHAWFY Fgdet [Option ID = 92021]
3. 7% [Option ID = 92023]



4, S= g [Option ID = 92022]

Correct Answer :-
« = g [Option ID = 92022]

91) ‘TTia’ ! IWAT 82 [Question ID = 53009]

1. g Ud [Option ID = 92029]

2. TE1eE! gt [Option ID = 92031]

3. SRR UG [Option ID = 92030]

4. gdeid FAuTdt fARTaT [Option ID = 92028]

Correct Answer :-

« gffATEd Ud [Option ID = 92029]

92) ‘i el # te iR’ f$HS I 82 [Question ID = 53021]

1. AT IR [Option ID = 92077]
2. IS [Option ID = 92076]

3. A9 YR [Option ID = 92078]

4. foa gt [Option ID = 92079]

Correct Answer :-
« Ag HSRI [Option ID = 92078]

93) ‘TIRIF ARSI’ ¥ IR §- [Question ID = 52971]

1. Pfdrefi=Ro T [Option ID = 91879]
2. YRdg R4S [Option ID = 91878]
3. TIUTeR™ TEHRT [Option ID = 91877]
4. &d % [Option ID = 91876]

Correct Answer :-
« Tcd A% [Option ID = 91876]

94) It Fa! Pt HeHY’ [FAP! TAT 82 [Question ID = 52969]

1. SRI3{eAT WM [Option ID = 91868]
2. AT [Option ID = 91870]

3. H=ft FeRIEaTd [Option ID = 91869]
4. 95 fAg [Option ID = 91871]

Correct Answer :-
« SNl @ [Option ID = 91868]

95) ‘IGaNa®’ PSB! T 82 [Question ID = 52958]

1. BTPHR SATHIGA il [Option ID = 91826]

2. U. YaTORT {3 [Option ID = 91824]

3. SRTATY G @R’ [Option ID = 91827]

4, IJUIHATT FEHRTIUT (YHEoN) [Option ID = 91825]

Correct Answer :-
o GTATY QI RATDHR’ [Option ID = 91827]

96) ‘Yo T4’ fHua IT- 82 [Question ID = 52984]

1. &% [Option ID = 91931]

2. 3R [Option ID = 91928]

3. TS [Option ID = 91929]

4, YRk YR [Option ID = 91930]

Correct Answer :-
o YXUT [Option ID = 91929]

97) ‘SREMARRAT®’ &% % TERIdl §- [Question ID = 52973]

1. X1oT @&H0r g [Option ID = 91887]
2. Rraudre Rrarfée [Option ID = 91886]
3. 4. 4Tema [Option ID = 91885]



4, d. 9MeR [Option ID = 91884]

Correct Answer :-

. Tavare RarfEe [Option ID = 91886]

98) ‘TaHR Fd’ fFHP! T 82 [Question ID = 52989]

1. JIUTE [Option ID = 91950]

2. YRAYNTE T [Option ID = 91949]
3. yHdR YRt [Option ID = 91951]
4, 3IATE AFR [Option ID = 91948]

Correct Answer :-
« YT [Option ID = 91950]

99) 3yTal W<y g fHHS! TT 82 [Question ID = 53006]

1. Tgal T [Option ID = 92016]

2. TEIEd! g [Option ID = 92018]

3. EK TMME [Option ID = 92019]
4. YU Had Y [Option ID = 92017]

Correct Answer :-
« U gad B9 [Option ID = 92017]

100) “3STTR B 7 ATH R TSt DY 7 B, — A tfrai fora $fd & 17 A ufig 82 [Question ID = 52970]

1. e [Option ID = 91873]
2. GIgedTd [Option ID = 91872]
3. A G [Option ID = 91874]
4. 5iGa¥ [Option ID = 91875]

Correct Answer :-
o HHcN [Option ID = 91874]



